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Lecture — 33
Centrifugal Puwer: Power Requiement

So, this is the lecture number 33 on centrifugal pumps again. So, mostly as I just said in

the previous lectures, we will be focusing more on Pump Power Requirement estimation.

(Refer Slide Time: 00:30)

l Centrl!ugal Pump: Total Heaa

Total pumping head:

It is energy utilized to pump water

Two situations:
1—'___-
1) Water source is above the center line of
pump
( submersible pump)

2) Water source is below the center line of @ i
. (i
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So, here there are the total pumping head is the total energy utilized by pump; in order to
pump from I mean low head to high head ok. So, here there are two situations you can
see, based on the location of the I mean water source. So, the if the water source is above

the center line of the pump right and the water source is below the center line of the

pump.

So, water source is above the central line of the pump for example, here if you see, so
this is the center line of the pump ok; so the water source is above and in this case this is
center line of the pump, the water source is below. In both cases we are going to see it
what is the total head. So, our idea is if you remember the equation, the power which is
equal to Q into H divided by 76. So, this will H is the head. So, here in both cases we are

going to see what is the head. In this case what is the head and what is in this case what



is the head ok. So, and the discharge anyway will be knowing, so knowing the discharge
right.

And the problem is the head. So, head involves the real pipelines and then efficient head
losses then other head losses. So, we are going to I mean the main task is to find out,

what is the total head here in both cases.

(Refer Slide Time: 02:17)

l Centrl!ugal Pump: Total Heaa

1. Water resource is below the center line of pump:
a) Static suction lift (h,)

Vertical distance from the free suction water level to the center line [ o
of pump

b) Total suction lift (H,)

He=het by,
where,

hy= loss due to friction in suction pipe and fittings, m
¢) Static discharge head (h,): @
Vertical distance from the free discharge water level to the center ‘m +
line of pump —

/- NPTEL ONLINE

IITKHARAGPUR CERTIFICATION COURSES

So, let us see the case number 1. So, that is the water source is below the center line of
the pump here if you see center line of the pump below, then it has a static suction lift.
So, since this is the pump center line it is below, so we use the term lift ok; if it is above

we use the term head ok.

So, in this case, the static suction lift ok; so the vertical this is the vertical distance
between from the free surface of water level to the center line of the pump. This we
already in the previous lectures, we have defined this. So, this is if you see the static
suction lift, so, this is from center line to the water surface. So, that is static suction lift
and then total suction lift; so that will be suction static suction lift and then the friction
head losses in that pipe ok. So, this is a total suction lift and static discharge head, so this
is suction is done. So, we have the two pots here, one is the suction pot and then

discharge pot.



So, in both cases, we going to estimate the head losses individually. So, as I said so here,
so this is the suction case we have two parts; one is the suction lift and the friction head
losses which are present in the the suction pipe. So, and also in addition to that, we have
we have to consider the bends ok; which are present in that and also the velocity head ok.
So, and then the so, here I mean if you see theoretically, so from moving one place to
another place water in a pipe. So, there is a elevation head right plus pressure head, plus

velocity head ok, from velocity head.

So, the elevation head of course, that is due to you know you know the pipes | mean the
height and everything, the pressure heads that is due to the frictions and other things in
the velocity heads. So, these three heads we need to consider here. So, total suction lift
will be, suction lift plus and total static suction lift plus friction head. And then static
discharge head, similarly, the static discharge head will be your the discharge head I
mean static discharge head, plus the static discharge head. This is the vertical distance, so
static discharge head is this is the pipe center line to the top surface of the delivery. So,

this is the static discharge head ok.

(Refer Slide Time: 05:23).

Centrl!ugal Pump: Total Heaa

d) Total discharge head (H,):
Hg=hygthyg _‘ mf"l“‘,.
where, hy;= loss due to friction in delivery pipe and - I

fittings, m
¢) Velocity head (H):

Pressure required to create velacity of the flow in the

pie H,=v'/2g _/

f otalh.ead(H): H3+Hd}Hv S

H=Ah,thig#(htheg HV2 28 +V2,/28)
—_— S
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And then we are going to have the friction head loss in that and that will give the total
discharge head. So, that is h sd and h fd. So, velocity head that is v square by 2 g you
need to consider and the total head will be the suction right, discharge and velocity. So,

this is a total suction head; total suction lift, total discharge head and the velocity head in



both the suction, as well as discharge case v square by 2 g; so this is the total head, in
case of water source which is below the center line of the pump. Now, similarly the
water source which is above the center line of the pump if you see, so, in this case also,

we consider the suction case and the discharge case both cases ok.

So, this in this case the static suction head because, this is above central line; so static
suction head. So, that is the vertical distance between, the top of the surface and center
line of the pump and then total suction head so that will be hs minus h fs. So, hs minus h
fs this is friction head loss, but the negative because, this is we are not going to use any
energy to pump because this is a due to gravity any way so gravity is helping us. So, it is
a negative basically the head is negative here right. So, that is why, it is a negative head,

but the difference of suction head minus friction head.

So, then static discharge head; so that is same as before because we are not changing
anything here, so this will be same. So, one is the difference between static discharge, is
the difference between these two. This is a discharge head and then adding the friction

head loss here.

So then, the total discharge is the discharge head; static discharge head and the friction
head loss and you have to use the velocity head. So, the total head in case of these this
the so, water source above the center line of the pump is equal to, this is the static you
know suction head, static discharge head I mean sorry total discharge head, total suction
head and then suction. This is minus V square by 2 g and V square this is for discharge
velocity head for discharge V square d by the 2 g because here the velocity if you see
again this is coming down this is really helping, so, that gravity really helping us in

pumping.

So, now the pump does not required to you know, use extra energy to pull this water

because, it is anyway head ok. So, that is the reason velocity is negative here.

(Refer Slide Time: 08:21)



l Power Requirement in Pumps

To determine hp of the electric motor or engine to drive the pump
V" Water horse power (WHP)

It is theoretical power required for purpping /

~\ DISCHARGE(Ips)XTOTAL HEAD , m
§ map’
DISCHARGE (mT)xTOTAL HEAD, m
B 0.076 ; ;# M

v' Shaft horse power (SHP) ML !
It is the power required at the power shaft SH
WHP
SHP = ———— ==

" PUMP EFFICIENCY
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And with this, in both cases we found the total head. So, once we know the total head,
sorry, so once we know the total head and discharge divided by 76 you get, this is a water
horsepower. So, water horse power that means, in order to pump water from one place to
another place, this much HP is required. And then, so that is a water then, after that in all
this pump level right in the pump level; so this is the pump support this is the water right

and here there is a motor, which really operates this pump right.

So, this is shaft right. So, if shaft is connected between the pump and motor. So, here this
has, so because this is in a moving pots those are moving pots. So, here point this is
called shaft horsepower which is equal to, water horsepower divided by pump efficiency;
so how efficient is the pump. So, that will be shaft horsepower and then the next is the
brake horsepower which is equal to shaft horse power divided by efficiency of the drive

ok. So, that let us see that next if you see.

(Refer Slide Time: 09:55)
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v Brake horse power (BHP) m)

Actual hp supplied by the engingAor driving a pump LJ
Incase of monoblockpumg,BHP=SHP V\’XMJ
Incase of belt driven pump, BHP= i here,nd=drive efficiency

——————= () i

' Input horse power (IHP):
e ——y

Where,
np=pump efficiency/

nm=motor efficiency
f q | BHPx0.746
Kw input to electric motor—W /
—__—-—-
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So, in case of monoblockpump; so BHP is equal to SHP. So, brake horsepower is actual

hp supplied by engine for driving to a pump ok.

So, in case of BHP monoblock brake horsepower is equal to shaft horsepower. In case of
belt drive, so we have to put the drive efficiency here WHP by you know drive efficiency
you get BHP here ok. Then input horsepower, so this where the electric electrical energy
I mean, there the motor really works. Water horse water horse power divided by I. So,
generally IHP which is equal to BHP divided by efficiency of the motor ok. Since BHP is
water horsepower divided by drive efficiency and then pump efficiency and then motor

efficiency. So, that is, that is, what you get this equation from this equation.

So, BHP here is equal to WHP divided by pump efficiency and drive efficiency ok. So,
np pump efficiency, motor efficiency and the kilowatt electrical motor that is BHP into
0.746 into motor efficiency. So, this equation will be used to find out the electrical motor

I mean, power required to run the motor ok.

(Refer Slide Time: 11:48)



Input
Electric
Power
: Pout=Txw Ny = P-out/P-in
P_in="Vxl =T Xrpm x 21 x 60
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So this overall you this will give so, here we have water. So, water Q into H is 76 will
give the water horse power. So, as since pump has an efficiency here, engine has an
efficiency here, drive has an efficiency here, so, at this point shaft horsepower, so that

will be equal to WHP divided by NP, so divided by NP; so shaft horsepower.

And then the BHP, so that will be is equal to SHP, in case of monoblock; otherwise BHP
is equal to water horsepower divided by nd right, nd into np ok. Or BHP is equal to SHP
divided by nd ok, in case of this.

(Refer Slide Time: 12:50)
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Power Requirement in Pumps

BHP
WHP

Input e s

Electric Engine Pump Water
P_in

Power @ SHP Mo (QxH)/76

External Drive 2, K
it

Ny

P out=Txw Ny = P-out/P-in

Pt =T xrpm x 210 x 60

/1 NPTELONLINE Dr. D.R. Mailapi
IIT KHARAGPUR CERTIFICATION COURSES 4

riculbieal and Can




So, then putting engine efficiency, also motor efficiency, you get I mean IHP is equal to
BHP divided by nm, so, that will give the engine efficiency. So, everything is here, so

how to find out the motor efficiency?

So, here from if, you see the pump testing rig, basically the electrical energy which is
supplied as voltage into current a that is P in and power out will be estimated using the a
torque and angular velocity. So, that is T into rpm into 2 pi into 60. See there is which is
a tau torque, torque meter is there and rpm is estimated I mean measured. So, knowing
this T into wP out will be known; P out by p in is equal to motor efficiency. So, this way

you can see how efficient is that.

(Refer Slide Time: 13:44)

l Exercise 33.1:

A pump lifts 100,000 liters of water per hour operate at a total head of 20 m. Compute the WHP. If the
pump has efficiency of 75%, What size of prime mover is required to operate the pump? If a direct
driven electric motor with an efficiency of 80% is usual to operate the pump, compute the cost of

electric energy in a units of 30 days. The pump is operated for 12 h daily for 30 days. The cost of
T —_—

electrical energy is X 6 per unit
—_—

Solution :

DlSCHARGE(lps)xTOTﬁEAD m
76

_ 100000x20
" 60x60x76 @
/ ~ i 730 @
SHP_PUMP EFFICIENCY 0.75

—— A
Since the pump is direct driven , the SHP is same as BHP
———-_____.

WHP
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So, exercise here in this problem, in this problem, a pump lifts 1,00,000 liters of water
per hour operate at a total head of 20 meter and compute the WHP water horsepower. So,
if the pump has efficiency 75 percent what is the size of prime mover required to operate
the pump? So, if a direct driven electrical motor with an efficiency 80 percent is usual to
operate the pump, compute the cost of electrical energy a unit of 30 days, the pump is

operated for 12 hours daily 30 days. So, the cost of electrical energy 6 rupees per unit.

So, we know w horsepower water horsepower, which is equal to discharge into head by
76 you get 7.3 and shaft horsepower W horsepower by pump efficiency you get SHP, that

since the pump is direct driven monoblock, so this will be BHP.



(Refer Slide Time: 14:55)
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nm

_973x0.746

Kw input to electric motor=

Total energy consumption per month

= 3265 KWH
—
Cost of electrical energy 6 (1 unit= 1KWH)
—4 L
=%19,590
—_—
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So, knowing the BHP, we can find out IHP right; so here if you see so this is BHP
multiplied by 0.746 into motor efficiency. So, you get the kilowatts right. So, total
energy consumption is the kilowatts into 12 hours a day and 30 days; the total these
many kilowatt units and cost of electrical energy is kilowatt watt hours and 1 unit cost.
So, 1 unit is equal to 1 kilowatt hour. So, total 19590 rupees is the electrical energy cost

in rupees.

(Refer Slide Time: 15:37)

] Exercise 33.2:

A direct driven centrifugal pump coupled to a 3-phase electric motor is installed in a deep open well. The
discharge rate of the pump is 20 Ips. The pump efficiency is 70%. The center line of the pump is 60 cm
vertical above The static water level and 6 m above the pumping water level. The suction pipe is 7.5 m
long and 8 cm diameter. A foot valve with strainers is attached to the bottom of the suction pipe. The
suction line in connected to the pump inTet By a Tong sweep bend of same size as the suction pipe. The
pump discharges water into the top of the pump stand of an underground pipeline water distribution
system. The vertical distance between the top of the stand and center line of the pump is 20 m. The total
length of the 7 cm diameter discharge is 20m . The pipe fittings on the discharge side are three long
sweep bends, one gate valve and one refluﬁzﬂve, all of which are of the same size as the discharge pipe.
—— —— e,

From the above data, compute

1) Total head s /

2) Water horse power

3) Brake horse power ofthz'étor required to drive the pump

NPTEL ONLINE Dr. D.R. Mailapi
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And this is a big example of course, it has a direct driven centrifugal pump coupled to a 3
phase electrical motor is installed in a deep well. The discharge rate of pump is 20 Ips.
The pump efficiency is 70 percent. The center line of the pump is 60 centimeter
vertically above the static water level and 6 meter above the pumping water level ok. So,
that means, this is the first case of this is the pump and you have the water source just

below the pump center line.

Then the suction pipe is 7.5 meter; so this is suction pipe 7.5 meter long and 8 centimeter
diameter. A foot valve is with strainer is attached in the bottom of the suction pipe. The
suction line is connected to the pump inlet by long sweep bend same size of suction pipe.
The pump discharges water into the top of the pump stand underground pipeline water

distribution system.

The vertical distance between the top of the stand and the center line of the pump 20
meter. The total length of the 7 centimeter diameter discharge is 20 meter. The pipe
fittings on the discharge side are 3 long sweep bends and 1 gate valve and 1 reflux valve
all, of them are the same size at the discharge pipe ok. So, find out the total head Water
Horsepower, WHP and Brake Horsepower right the BHP. So, these things needs to be

worked out.

(Refer Slide Time: 17:12)
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Delivery

SB: Sweep bend
RV: Reflux valve
GV: Gate Valve
Suction FV: Foot Valve
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So, let us see here. So, the whole thing can be put in this manner; so this is the pump, so

this is the suction line and at the end there is a foot valve ok.



So, here this is sweep bend, there is a sweep bend this is a gate valve reflex valve, there

is another sweep bend here and this is the delivery and the pump has a 70 efficiency ok.

(Refer Slide Time: 17:45).

l Solution :

T 8x8
Area of suction pipe a= % =0.005 m? /

Velocity of water in suction pipe v, = Lk L2y m//

a1 1000%0.005 /
Area of discharge pipe, a, = 0.0033m2\/ d@
Velocity of water in the discharge pipe v,= 5.26 m/s / U)W -
i.

Total head = total 'sﬁ:'tion lift + total dis\éﬁge head ) b

static suction lift = 6m
Head loss in suction pipe of 8 cm dia and 7.5 m length =2.25 (from friction loss table)

Head loss in long sweep bend 8cm dia=0.41m

X 077 m

. v2
Head loss in strainer = K— = 0.95x——=
29 2x981
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So, this way if you can schematic the whole thing then the calculations are like this. So,
first area of suction pipe, since, diameter is given. So, you can find out area of suction
pipe and velocity of suction pipe. So, knowing the discharge and velocity discharge and
area you can find out the velocity. Similarly, for discharge pipe area and velocity. So, and
first thing is the total head, the total head is equal to total suction lift and total discharge
head ok. This is the total head. So, we find out total suction lift and find out total
discharge head. So, once you know the total head and you will be able to find out the
water horsepower which is equal to Q into H by 76. So, our interest, so q is known our

interest is to find out h so, total head.

(Refer Slide Time: 18:39)



l Solution :

MXBx8

Area of suction pipe a;= T 0.005 m? lww\ Q’MLM:_

. . S 20
Velocity of water in suction pipe v, = f—l ek dmfs @ D

Area of discharge pipe, a,=0.0038m?

Velocity of water in the discharge pipe v, = 5.2'6}/5

i.  Total head = total suction lift + total discharge head L_ = {Aj
static suction lift

Head loss in suction pipe of 8 cm dia and 7.5 m length (fromfriction loss table)q’ = 7

Head loss in long sweep bend 8cm dia=0.41m

el (i W
Head loss in strainer = ng = O.SSXZ:::1=0.77 m @ 6 WA~ a
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So, the total head as I said the 2 parts suction lift and discharge. Let us find out what is
suction lift. So, it has again a static suction lift and friction heads, velocity heads ok. So,
static suction lift 6 meter suction pipe line is given, so 6 meter. Head loss in the suction
pipe 8 centimeter dia 7.5 meter length is 2.25. So, from friction loss table so, there is a
table I said right. So, this is a Q for a particular Q and these are the diameter for a
particular diameter you get the friction head loss for 100 meter length of the pipe ok.

So, for 100 meter length you got hf and for this length 6 meter length right; so what
would be your hf? So, suppose this is 100 meter you get hf and for 6 meter what is this?
Ok. So, that is 6 by 100 into hf. So, that will be 2.25 if, you look at that. And head loss in

the long sweep bend 8 centimeter diameter that is 0.41.

(Refer Slide Time: 19:52)



] Solution :

mx8x8

- 2
4x100X100 0.006m

Area of suction pipe a,=

4m/fs 000

Velocity of water in suction pipe v, = f—i = m =

Area of discharge pipe, a,= 0.0038m?

Velocity of water in the discharge pipe v,=5.26 m/s

i.  Total head = total suction lift + total discharge head
static suction lift =6m

Head loss in suction pipe of 8 cm dia and 7.5 m length =2.25 (from friction loss table)

Head loss in long sweep bend 8cm dia
F{f S

Head loss in strainer .95X—X:H=0.77 m
i — .
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So, this is also similar to so, you have seen the you know the for different, for different
bends you have seen for a particular discharge right; you get an equivalent length of the
pipe and you go back to your fiction table. For 100 meter find out hf and for I find out
the hf ok.

So, that is 0.41. Similarly, for head loss in this strainer, so there is an equation Ks into v
square by 2 g. So, velocity is given I mean estimate we have estimated a velocity and
then you get 0.77 meters for the strainer. So, strainer why for the suction we have strainer

and the foot valve. So, similarly ok.

(Refer Slide Time: 20:42).
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FRICTION LOSS CHAR1.

e FRICTION LDSS: (motr /100 motros of pipe) e FRICTION LOSS (motroa/100 metras of pipe)

Nom, 32mm | Nom. 40mm | Nom. 50mm | Nom. 80mm | Nom. 100mm 00 32mm 0D 40mm 0D 50mm 00 B3mm
Lis [ opm | ena [eniz | o [rniz | e [eniz | puo [eniz | puo [phiz [Ts [ aPm [ oho 3 [Pz i s [phaz 5| i [tz 6| P a pnna o
04 5 048 | 054 | 026 ] 0.20 | 0.00] 01 04 5 208 | 300 (073 [1.30 ) 0.26 | 048 | 009 | 0.16
0.5 7 0.7 | 0.8 |037]042]013]0.14 05 T 307 | 60 | 108 ) 205|037 [ 07 [113)]024
06 | & Joo7] 10 [os osafo1r] 02 (06 | & |24 [ a4 140|262 061 | 097 017 |032]
07 ) 0 1127 114410661077 ]0.23] 0.26 k3 1 07 9 55 1107 [ 1.05| 37 | 0.67 | 1.27 | 0.22 | 043 |
08 1 161|182 | 084 | 097 | 0.20 | 0.33 08 n 7.05 |1356| 247 | 4.60 | 0.85 | 161 | 0.28 | 054
0.0 12 | 198|224 | 103|110 035 | 04 | 0.06 | 0.06 09 12 | 868 |1672] 304 [ 578 | 1.04 | 108 | 035 | 088
1 14 |238)] 27 |12 1.43 | 0.42 | 0.48 | 0.07 | 0.08 1 14 | 1047|2017 | 366 | 6.06 | 1.26 | 238 | 042 | 08
12 16 20 1374 50 | 0.67 | 0.0 | 0.11 12 16 |1448)2703| 506 | 063 | 1.73 ) 320 | 058 | 11
S | 16 [ ass [am 085 | 012 | 0.14 14 | 16 [1007] %8 | 666 [1267| 228 | 43| 075 | 144
161 2 E 0.16 | 0.18 0.08 16 21 2421 (4676 | 845 | 1600 | 280 | 540 | 096 | 183
18 | 24 | 677 ] 768 0.19 | 0.22 | 0.06 | 0.06 18 24 | 2001 [57.70 | 1042 | 1086 | 356 | 677 [ 118 | 225
2 26 |87 | 927 -H./'F 0.26 | 0.07 | 0.08 2 26 3613 (6086 [1258|2399| 43 (817 (142 | 271
25 | 33 |12.18]13.83) 6. 5 (034030 ] 01 | 012 25 33 | 54.00 104.53) 18.77 [ 3582 [ 64 [1218] 211 | 404
3 40 |16.69]19.08 0.46 | 0.53 | 0.14 | 0.16 3 40 | 7506 26054075 | 8.07 | 1689 | 292 | 56
35 6 |2.20] - 061 | 07 | 018 ] 0.1 35 46 < | 3430|6574 [ 1160 (2220 385 ) 738
4 | 8 | - | - |147|1698] 40a|568] 07| 09| 028 | 026 "4 | s | - | - |4ar|eaa|14e|2038] a9 | 907
45 | 80 - - J18.18]20.99] 6.15 | 7.02 | 0.5 [ 1.1 | 0.20 ] 0.33 45 | 60 - |87 - 18,38 | 3507 | 6.04 [11.50
5 66 7.43 | 8.49 | 116 | 1.32 | 0.34 | 0.39 5 66 6557 222 (4244] 73 140
55 73 - - 8.82 |10.07] 1,37 [ 1,57 | 0.41 | 0.47 55 73 7196 26.4 |5044 | 866 [16.63
s | ™ 1032] 1178] 16 | 1.83 | 0.8 | 055 6 [ m ] - | 09 [5007| 1013|1946
N 1362|1550l 2.11 | 242 | 063 | 02 65 | 8 3726831 | 1.70] 2249
{30 K 71 55 IS S I 1) T X A 7 Lo T Jow] . [uslzz
1 c Z0et| 231 | 38 008103
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So, here there is a friction head loss table. So, knowing the you know, discharge here and
the corresponding diameter, you can find out the friction head loss for you know 100

meter length and then you can reduce it to your length.

(Refer Slide Time: 21:01)

—mnnn_
Y E -

0l
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Pipe size M Equivalent length of straight pipe in metres,
mm for calculating friction loss

OMGRADISELBO HomuaL BIND

i),

20 op 0. 0. 7 05 15 15 15 .5
0. 0. 2 05 20 18 3 .0

32\(03) o 09 11.3 08 26 24 7 6
ef_ 0. i1_13.4 09 31 27 4 &

50 0. 0.l 14 174 11 40 34 46 4.0
65 06 0. 17 201 14 52 43 565 4.6
80 0. 11 21 260 15 61 52 67 55
00 11 15 2.7 240 21 82 67 88 7.3
125 12 1.8 37 430 27 100 82 110 95
1650 1.6 21 43 49.0 3.4 122 100 140 11.0
200 2.1 1 55 670 43 165 134 18.0 150
250 2.4 3.7 7.0 854 55 200 165 22.0 19.0
300 3.1 4.3 85 980 67 244 200 274 230
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Similarly, for walls for long sweep bend for example; so, for a pipe size find out the this
is equivalent pipe length and then go back to the friction table and find out the
corresponding hf for this particular length.

(Refer Slide Time: 21:18)

] Head loss in foot valve = K%:O.sx B 065m

2x9.81

4x4
20981 Gl

Velocity head (suction line)= %z

Total suction lift =6 +2.25 +0.77+ 0.65+0.81 + 0.41=10.89 m
Static discharge head =‘_20}|

Ak : ! 72%20
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Ok. So, now, head loss head loss in the foot valve this is this much is the equation.
Velocity head v square 2 g you get this. And total suction lift is static suction lift and then
you get the friction head loss in the pipe and this is a bend. Sorry, this is a strainer and
the foot valve ok, velocity head and then other bends. So, the total will be 10.89 meter is

the static total static suction lift total suction lift this one.

Similarly, static discharge head 20 meter, this is the length of the pipe. And then head
loss in pipe for 7 centimeter 20 meter length you get length 14.4 meter is the friction
head loss. And head loss in the long sweep bends, so 7 centimeter you get 2.07 meter
right. Head loss in the gate valve 0.33 meter, from the again this is from the table. So,
this is from the table. This is also from the table and nomograph. This is also from the
table right. Head loss in the reflex valve based on the foot valve if, we use the same foot
valve equation like a kf into v square by 2 g you get this then velocity head discharge

line that is again v square by 2 g, so that is 1.40 right.

(Refer Slide Time: 22:58).
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ii.  Water horse power =

Brake horse power of motor required to drive the pump = %Xg

R

=18.87 hP
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So, in case of discharge head the total will be this is the discharge, line length of
discharge line and 14.40 is the friction in that line and 2.07 is the what is the called the
bends and then this is this is what reflex valve and other bends ok. So, all together it will
be 39.32. So, total head will be, this is the suction side and discharge side and total will

be 50.21 meter and water horsepower is equal to, this is the head and discharge divided



by 76 will be 13.21 hp and brake horse power of motor required will be 13.21 divided by
70 into 100, that will be 18.87 hp is the brake horse power.

Ok So, so this way in centrifugal pump, so we cover red in this lecture. If you install
centrifugal pump in two cases the case number 1 when, the water source is below the
center line of the pump, I mean you can estimate the total head loss right. So, the
basically the head loss will have two parts. The part number one is the suction lift right.
So, in this case if the suction lift and also discharge head ok. So, in case of water source,
which is above the center line of the pump the suction head and discharge head ok. So,

these two heads we need to consider for finding out the total head.

So, in each part either suction or discharge see if you can I mean divide. So, it has the
basically, the elevation head, the pressure head and the friction head. So, these three
heads sorry pressure head, friction head, velocity head. So, these heads will be
considered ok. The first thing is the pipe line the length of the pipe. So, that will give
elevation head and then the friction head loss either due to the pipe length so; that means
the friction head loss and then the velocity. So, velocity due to the turbulence and other

things, so, that will create velocity head ok.

So, these three heads then in addition to that if you have bends, you have to consider the
friction head loss due to bends ok so, the similarly in case of discharge side. So,
combining all heads together, will give the total head. So, low in the total head right,
multiplying with the discharge divided by 76 will give the water horse power. So that
means, the water to display it displace from suction to discharge head discharge level,
you need to operate the pump at this particular hp right the power. So, then again the
power will be different from end of the pump like starting of the pump to the motor level

electrical motor level based on the efficiency of the devices ok.

Then based on that it is been like, you have water horsepower at the starting of the pump
and then shaft horsepower, combining the pump efficiency then brake horsepower. So,
that will be like you know, if we have monoblock pump. So, the shaft horsepower is
equal to brake horsepower and then if you have external drive is used to operate the
pump then, you have to consider the drive efficiency into calculation. So, then your

brake horsepower is equal to shaft horsepower divided by your efficiency of the drive.



And then input horsepower, so that is equal to so, input horsepower is equal to brake

horsepower divided by efficiency of the motor ok.

So, at the different stages the efficiencies are different. So, that the power is the different
hps are different ok. So, we solve the two examples here; the first example, on the power
requirement and second example also on a different cases, I mean finding out you
knowing the total head. So, how to find out the total head for a particular case? So, case
number 1, in this case like water source is above the center line. Similarly you can find
out the case number 2 the water source which is above the center line that is case number
2 the total head ok. So, in the next class we will be focusing on cavitation in centrifugal
pump generally it happens and then pump characteristic curves affinity loss and then

there are other and pumps we need to discuss ok.

Thank you so much.



